SYNOPSIS  Bid No. 2015-001-6453 Annual Contract for the Printing and			Election Systems &	
Production of Election Ballots and the Conversion of Audio Ballot Voice Files			Software, Inc.	
Ballot Voice Files			11208 John Galt Blvd.	
			Omaha, NE 68137 Richard J. Jablonski	
Contract Period: 3/24/2015 through 3/23/2016 Charles Price Senior Buyer 214.653.6223			800.247.8683 402.970.1291 fax	
DESCRIPTION:	Est. Qty.			
	Qty.		DECOMMENDED FOR	
			RECOMMENDED FOR AWARD	
Section A				
Optical Scan Ballots, as per bid specifications				
1.1 Paper Size: 8-1/2"x 14", Printed One Side, Black Ink Per Order Release Quantity:				
01 - 999 1,000 – 9,999	999 1,000	each per thousand	\$0.22 \$220.00	\$8,791.20 \$4,400.00
10,000 – 49,999	10,000	per thousand	\$210.00	\$21,000.00
50,000 – 99,999	50,000	per thousand	\$195.00	\$97,500.00
100,000 - 249,999	100,000	per thousand	\$185.00	\$92,500.00
250,000 – 499,999	250,000	per thousand	\$180.00	\$225,000.00
500,000 – 999,999	500,000	per thousand	\$175.00	\$262,500.00
1,000,000 - and above	1,000,000	per thousand	\$175.00	\$175,000.00
1.2 Paper Size: 8-1/2"x 14", Printed Two Sided, Different Copy,				
Black Ink Per Order Release Quantity:				
01 - 999 1,000 - 9,999	999 1,000	each per thousand	\$0.25 \$250.00	\$4,995.00 \$1,250.00
10,000 – 49,999	10,000	per thousand	\$240.00	\$12,000.00
50,000 – 99,999	50,000	per thousand	\$225.00	\$33,750.00
100,000 - 249,999	100,000	per thousand	\$215.00	\$43,000.00
250,000 – 499,999	250,000	per thousand	\$210.00	\$105,000.00
500,000 – 999,999	500,000	per thousand	\$205.00	\$205,000.00
1,000,000 - and above	1,000,000	per thousand	\$205.00	\$205,000.00
1.3 Paper Size: 8-½"x 17", Printed One Side, Black Ink Per Order Release Quantity:				
01 - 999 1,000 - 9,999	999 1,000	each per thousand	\$0.22 \$220.00	\$439.56 \$660.00
10,000 – 49,999	10,000	per thousand	\$210.00	\$8,400.00
50,000 – 99,999	50,000	per thousand	\$195.00	\$29,250.00
100,000 - 249,999	100,000	per thousand	\$185.00	\$55,500.00
250,000 – 499,999	250,000	per thousand	\$180.00	\$90,000.00

SYNOPSIS Bid No. 2015-001-6453 Annual Contract for the Printing and Production of Election Ballots and the Conversion of Audio Ballot Voice Files  Contract Period: 3/24/2015 through 3/23/2016 Charles Price Senior Buyer 214.653.6223			Election Systems & Software, Inc.  11208 John Galt Blvd. Omaha, NE 68137 Richard J. Jablonski 800.247.8683 402.970.1291 fax	
DESCRIPTION:	Est. Qty.			
500,000 – 999,999	500,000	per thousand	\$175.00	\$175,000.00
1,000,000 - and above	1,000,000	per thousand	\$175.00	\$175,000.00
1.4 Paper Size: 8-1/2"x 17", Printed Two Sided, Different Copy, Black Ink Per Order Release Quantity: 01 - 999 1,000 - 9,999	999 1,000	each per thousand	\$0.25 \$250.00	\$1,248.75 \$1,250.00
10,000 – 49,999	10,000	per thousand	\$240.00	\$24,000.00
50,000 – 99,999	50,000	per thousand	\$225.00	\$56,250.00
100,000 - 249,999	100,000	per thousand	\$215.00	\$107,500.00
250,000 – 499,999	250,000	per thousand	\$210.00	\$262,500.00
500,000 – 999,999	500,000	per thousand	\$205.00	\$205,000.00
1,000,000 - and above	1,000,000	per thousand	\$205.00	\$205,000.00
1.5 Paper Size: 8-½"x 19", Printed One Side, Black Ink Per Order Release Quantity:				
01 - 999 1,000 — 9,999	999 1,000	each per thousand	\$0.27 \$270.00	\$1,348.65 \$540.00
10,000 – 49,999	10,000	per thousand	\$260.00	\$5,200.00
50,000 – 99,999	50,000	per thousand	\$245.00	\$12,250.00
100,000 - 249,999	100,000	per thousand	\$235.00	\$23,500.00
250,000 – 499,999	250,000	per thousand	\$225.00	\$56,250.00
500,000 – 999,999	500,000	per thousand	\$215.00	\$107,500.00
1,000,000 - and above	1,000,000	per thousand	\$215.00	\$215,000.00
1.6 Paper Size: 8-1/2"x 19", Printed Two Sided, Different Copy, Black Ink Per Order Release Quantity:				
01 - 999 1,000 - 9,999	999 1,000	each per thousand	\$0.27 \$270.00	\$269.73 \$270.00
10,000 – 49,999	10,000	per thousand	\$260.00	\$2,600.00
50,000 – 99,999	50,000	per thousand	\$245.00	\$12,250.00
100,000 - 249,999	100,000	per thousand	\$235.00	\$23,500.00
250,000 – 499,999	250,000	per thousand	\$225.00	\$56,250.00
500,000 – 999,999	500,000	per thousand	\$215.00	\$107,500.00
1,000,000 - and above	1,000,000	per thousand	\$215.00	\$215,000.00
	Page 2 o	f 8	l	l

SYNOPSIS Bid No. 2015-001-6453 Annual Contract for the Printing and Production of Election Ballots and the Conversion of Audio Ballot Voice Files			Election Systems & Software, Inc.	
Contract Period: 3/24/2015 through 3/23/2016 Charles Price Senior Buyer 214.653.6223			11208 John Galt Blvd. Omaha, NE 68137 Richard J. Jablonski 800.247.8683 402.970.1291 fax	
DESCRIPTION:	Est. Qty.			
1.7 Specify Additional Cost (if any) for Set-Up Charge: \$/ per ballot style or type			Included	
1.8 Specify Additional Cost (if any) for Ballot Format/ Image Set-Up Charge for the ballot sizes listed below:				
Size: 8-½"x 14" - \$/ per ballot style or type Size: 8-½"x 17" - \$/ per ballot style or type Size: 8-½"x 19" - \$/ per ballot style or type			Included Included Included	
1.9 Specify Additional Cost (if any) to Sequentially Number each Ballot Page: \$/ each			Included	
1.10 Specify Additional Cost (if any) to Print Ballot with Color Other Than Black Ink: \$/each			\$0.05	
1.11 Specify Additional Cost (if any) to Color stripe each Ballot Page \$/ each	):		Included	
1.12 Specify Additional Cost (if any) for Rush Order Ballots - Turnaround and delivered within 48 hours upon approval ballot by the Election Department: \$/ each			Included	
2. Optical Scan Ballots – Shell Paper (Blank - No Printing Required) for Ballot on Demand Printing				
2.1 Paper Size: 8-½"x 14" Per Order Release Quantity:				
01 - 999 1,000 - 9,999	999 1,000	each per thousand	\$0.09 \$90.00	\$89.91 \$180.00
10,000 – 49,999	10,000	per thousand	\$90.00	\$4,500.00
50,000 – 99,999	50,000	per thousand	\$90.00	\$18,000.00
100,000 - 249,999	100,000	per thousand	\$80.00	\$8,000.00
250,000 – 499,999	250,000	per thousand	\$80.00	\$20,000.00
500,000 – 999,999	500,000	per thousand	\$80.00	\$40,000.00
1,000,000 - and above	1,000,000	per thousand	\$70.00	\$70,000.00
2.2 Paper Size: 8-1/2"x 17" Per Order Release Quantity:				
01 - 999 1,000 — 9,999	999 1,000	each per thousand	\$0.09 \$90.00	\$89.91 \$180.00
10,000 – 49,999	10,000	per thousand	\$90.00	\$1,800.00
50,000 – 99,999	50,000	per thousand	\$90.00	\$9,000.00
100,000 - 249,999	100,000	per thousand	\$80.00	\$8,000.00
250,000 – 499,999	250,000	per thousand	\$80.00	\$20,000.00
500,000 – 999,999	500,000	per thousand	\$80.00	\$40,000.00
1,000,000 - and above	1,000,000	per thousand	\$70.00	\$70,000.00

SYNOPSIS				
Bid No. 2015-001-6453 Annual Contract for the Printing and			Election Systems &	
Production of Election Ballots and the Conversion of Audio Ballot Voice Files			Software, Inc.	
			11208 John Galt Blvd.	
			Omaha, NE 68137	
Contract Period: 3/24/2015 through 3/23/2016			Richard J. Jablonski 800.247.8683	
Charles Price Senior Buyer 214.653.6223			402.970.1291 fax	
DESCRIPTION:	Est.			
	Qty.			
2.3 Paper Size: 8-½"x 19" Per Order Release Quantity:				
01 - 999	999	each	\$0.09	\$89.91
1,000 – 9,999	1,000	per thousand	\$90.00	\$90.00
10,000 – 49,999	10,000	per thousand	\$90.00	\$900.00
		•		
50,000 – 99,999	50,000	per thousand	\$90.00	\$4,500.00
100,000 and above	100,000	per thousand	\$80.00	\$8,000.00
2 Comple Bellete on you hid annuitingtions				
3. Sample Ballots, as per bid specifications 3.1 Paper Size: 8-1/2"x 14"				
Paper Type: 20# Bond				
Paper Color: Canary				
Printed One Side, Black Ink Per Order Release Quantity:				
01 -199	199	each	\$0.09	\$268.65
200 - 599 600 - 999	200 600	each each	\$0.09 \$0.09	\$360.00 \$270.00
1,000 – 2,499	1,000	per thousand	\$90.00	\$450.00
2,500 – 4,999	2,500	per thousand	\$90.00	\$1,125.00
5,000 and above	5,000	per thousand	\$90.00	\$2,250.00
3.2 Paper Size: 8-½"x 17" Paper Type: 20# Bond				
Paper Color: Canary				
Printed One Side, Black Ink				
Per Order Release Quantity: 01 -199	199	each	\$0.09	\$179.10
200 - 599	200	each	\$0.09	\$18.00
600 - 999	600	each	\$0.09	\$54.00
1,000 – 2,499	1,000	per thousand	\$90.00	\$450.00
2,500 – 4,999	2,500	per thousand	\$90.00	\$2,250.00
5,000 and above	5,000	per thousand	\$90.00	\$2,250.00
3.3 Paper Size: 8-½"x 19"				
Paper Type: 20# Bond				
Paper Color: Canary Printed One Side, Black Ink				
Per Order Release Quantity:				
01 -199	199	each	\$0.10	\$99.50
200 - 599	200	each	\$0.10	\$100.00
600 - 999 1,000 - 2,499	600 1,000	each per thousand	\$0.10 \$100.00	\$300.00 \$100.00
2,500 and above	2,500	per thousand	\$100.00	\$250.00
		•		
3.4 Specify Additional Cost (if any) to Print Ballot with Color Other			\$0.05	
Than Black Ink: \$/each				

SYNOPSIS Bid No. 2015-001-6453 Annual Contract for the Printing and Production of Election Ballots and the Conversion of Audio			Election Systems & Software, Inc.	
Ballot Voice Files			11208 John Galt Blvd. Omaha, NE 68137 Richard J. Jablonski	
Contract Period: 3/24/2015 through 3/23/2016 Charles Price Senior Buyer 214.653.6223			800.247.8683 402.970.1291 fax	
DESCRIPTION:	Est. Qty.			
3.5 Specify Additional Cost (if any) for Rush Order Ballots - Turnaround and delivered within 48 hours upon approval ballot by the Election Department: \$/ each			Included	\$0.00
4. Provisional Ballots, as per bid specifications				
4.1 Paper Size: 8-1/2"x 14" Paper Type: 20# Bond Paper Color: Blue Printed One Side, Black Ink Per Order Release Quantity				
01 - 999 1,000 - 9,999	999 1,000	each per thousand	\$0.09 \$90.00	\$3,146.85 \$900.00
10,000 – 49,999	10,000	per thousand	\$90.00	\$9,000.00
50,000 – 99,999	50,000	per thousand	\$90.00	\$22,500.00
100,000 - 249,999	100,000	per thousand	\$90.00	\$45,000.00
250,000 – 499,999	250,000	per thousand	\$90.00	\$112,500.00
500,000 and above	500,000	per thousand	\$90.00	\$90,000.00
4.2 Paper Size: 8-½"x 14" Paper Type: 20# Bond Paper Color: Blue Printed Two Sided, Different Copy, Black Ink Per Order Release Quantity				
01 - 999 1,000 – 9,999	999 1,000	each per thousand	\$0.09 \$90.00	\$1,798.20 \$450.00
10,000 – 49,999	10,000	per thousand	\$90.00	\$4,500.00
50,000 – 99,999	50,000	per thousand	\$90.00	\$13,500.00
100,000 - 249,999	100,000	per thousand	\$90.00	\$27,000.00
250,000 – 499,999	250,000	per thousand	\$90.00	\$67,500.00
500,000 and above	500,000	per thousand	\$90.00	\$90,000.00
4.3 Paper Size: 8-1/2"x 17" Paper Type: 20# Bond Paper Color: Blue Printed One Side, Black Ink Per Order Release Quantity:				
01 - 999 1,000 - 9,999	999 1,000	each per thousand	\$0.09 \$90.00	\$899.10 \$450.00
10,000 – 49,999	10,000	per thousand	\$90.00	\$9,000.00
50,000 – 99,999	50,000	per thousand	\$90.00	\$22,500.00

		r		
SYNOPSIS  Bid No. 2015-001-6453 Annual Contract for the Printing and Production of Election Ballots and the Conversion of Audio Ballot Voice Files			Election Systems & Software, Inc.	
Ballot Voice Files			11208 John Galt Blvd. Omaha, NE 68137 Richard J. Jablonski	
Contract Period: 3/24/2015 through 3/23/2016 Charles Price Senior Buyer 214.653.6223			800.247.8683 402.970.1291 fax	
DESCRIPTION:	Est. Qty.			
100,000 - 249,999	100,000	per thousand	\$90.00	\$45,000.00
250,000 - 499,999	250,000	per thousand	\$90.00	\$112,500.00
500,000 and above	500,000	per thousand	\$90.00	\$90,000.00
4.4 Paper Size: 8-1/2"x 17" Paper Type: 20# Bond Paper Color: Blue Printed Two Sided, Different Copy, Black Ink Per Order Release Quantity:				
01 - 999 1,000 - 9,999	999 1,000	each per thousand	\$0.09 \$90.00	\$449.55 \$270.00
10,000 – 49,999	10,000	per thousand	\$90.00	\$2,700.00
50,000 - 99,999	50,000	per thousand	\$90.00	\$13,500.00
100,000 - 249,999	100,000	per thousand	\$90.00	\$27,000.00
250,000 – 499,999	250,000	per thousand	\$90.00	\$67,500.00
500,000 and above	500,000	per thousand	\$90.00	\$90,000.00
4.5 Paper Size: 8-½"x 19" Paper Type: 20# Bond Paper Color: Blue Printed One Side, Black Ink Per Order Release Quantity:				
01 - 999 1,000 - 9,999	999 1,000	each per thousand	\$0.10 \$100.00	\$499.50 \$500.00
10,000 – 49,999	10,000	per thousand	\$100.00	\$5,000.00
50,000 – 99,999	50,000	per thousand	\$100.00	\$25,000.00
100,000 - 249,999	100,000	per thousand	\$100.00	\$50,000.00
250,000 – 499,999	250,000	per thousand	\$100.00	\$125,000.00
500,000 and above	500,000	per thousand	\$100.00	\$150,000.00
4.6 Paper Size: 8-½"x 19" Paper Type: 20# Bond Paper Color: Blue Printed Two Sided, Different Copy, Black Ink Per Order Release Quantity:				
01 - 999 1,000 — 9,999	999 1,000	each per thousand	\$0.10 \$100.00	\$199.80 \$200.00
10,000 – 49,999	10,000	per thousand	\$100.00	\$2,000.00
50,000 - 99,999	50,000	per thousand	\$100.00	\$10,000.00
100,000 - 249,999	100,000	per thousand	\$100.00	\$20,000.00
	Page 6	of 8		
	Page 6	of 8		

SYNOPSIS				
Bid No. 2015-001-6453 Annual Contract for the Printing and Production of Election Ballots and the Conversion of Audio Ballot Voice Files			Election Systems & Software, Inc.	
			11208 John Galt Blvd. Omaha, NE 68137	
Contract Period: 3/24/2015 through 3/23/2016 Charles Price Senior Buyer 214.653.6223			Richard J. Jablonski 800.247.8683 402.970.1291 fax	
DESCRIPTION:	Est. Qty.			
250,000 – 499,999	250,000	per thousand	\$100.00	\$50,000.00
500,000 and above	500,000	per thousand	\$100.00	\$100,000.00
4.7 Specify Additional Cost (if any) to Sequentially Number each Ballot Page: \$/ each			Included	\$0.00
4.8 Specify Additional Cost (if any) to Print Ballot with Color Other Than Black Ink: \$/each			\$0.05	
4.9 Specify Additional Cost (if any) for Rush Order Ballots - Turnaround and delivered within 48 hours upon approval ballot by the Election Department: \$/ each			Included	\$0.00
5. Ballot and Seal Certificates, as per bid specifications 4-Part NCR Set Paper Size: 8-½"x 11" Paper Type: Carbonless (No Carbon Required) Printed One Side, Same Copy Black Ink Color Sequence: Goldenrod, White, Canary, Pink Padded - Top Edge Glued Per Order Release Quantity:				
01 -199	199	sets	\$6.35	\$75,819.00
200 - 599 600 - 999 1,000 - 2,499	200 600 1,000	sets sets per thousand	\$5.20 \$4.15 \$3,395.00	\$26,000.00 \$49,800.00 \$33,950.00
2,500 - 4,999	2,500	sets per thousand	\$3,225.00	\$8,062.50
5 000 and shave	F 000	sets	¢2.050.00	¢45.750.00
5,000 and above	5,000	per thousand sets	\$3,050.00	\$45,750.00
5.1 Specify Additional Cost (if any) to Sequentially Number each Ballot Page: \$/ each			Included	\$0.00
5.2 Specify Additional Cost (if any) to Print Ballot with Color Other Than Black Ink: \$/each			\$0.05	
5.3 Specify Additional Cost (if any) for Rush Order Ballots - Turnaround and delivered within 48 hours upon approval ballot by the Election Department: \$/ each			Included	\$0.00
Section B				
6. Audio Ballot Voice File, as per bid specifications Language: English and Spanish				
<ul> <li>6.1 Party Codes /each</li> <li>6.2 Ballot Style /each</li> <li>6.3 Contest Title /each</li> <li>6.4 Candidate Name /each</li> <li>6.5 Proposition Response /each</li> <li>6.6 English Translation Set-up /each</li> <li>6.7 Spanish Translation Set-up /each</li> <li>6.8 English Proposition Wording /each</li> </ul>	Page 7 (	of 8	\$5.22 \$10.53 \$10.53 \$7.29 \$7.29 \$256.50 \$256.50 \$15.48	\$5.22 \$10.53 \$10.53 \$7.29 \$7.29 \$256.50 \$256.50 \$15.48
	i age / (	J. U		

SYNOPSIS  Bid No. 2015-001-6453 Annual Contract for the Printing and Production of Election Ballots and the Conversion of Audio Ballot Voice Files		Election Systems & Software, Inc.	
Contract Period: 3/24/2015 through 3/23/2016 Charles Price Senior Buyer 214.653.6223		11208 John Galt Blvd. Omaha, NE 68137 Richard J. Jablonski 800.247.8683 402.970.1291 fax	
Charles The Comor Bayer 214.000.0220		102.070.120114.	
DESCRIPTION:	Est. Qty.		
6.9 English Proposition Wording - Per word In excess of 1200 words /each		\$0.27	\$0.27
<ul><li>6.10 Spanish Proposition Wording /each</li><li>6.11 Spanish Proposition Wording - Per word In excess of 1200 words /each</li></ul>		\$15.48 \$0.27	\$15.48 \$0.27
<ul><li>6.12 Additional Language (TBD) Proposition Wording /each</li><li>6.13 Additional Language (TBD) Proposition Wording - Per word In excess of 1200 words /each</li></ul>		\$15.48 \$0.27	\$15.48 \$0.27
6.14 Specify Resubmission Fee (if any):		\$256.50	\$256.50
Language: English /each Language: Spanish /each Additional Language: (TBD) /each		\$256.50 \$256.50 \$387.00	\$256.50 \$256.50 \$387.00
Please state the reason/circumstance why resubmission fee/charge would apply to any order			
Specify Additional Cost (if any) for Rush Order Ballots - Turnaround and delivered within 48 hours upon approval ballot by the Election Department: $\$ each $Total$		Included	\$0.00
			\$5,815,952.48
Specify any additional comments/cost/etc. included with your bid proposal, if applicable:		ES&S has additional printing facilities in Birmingham, AL; Omaha, NE; Everette, WA which in the unlikely event that the primary printer is unable to print ballots due to unforeseen interuption in ballot production can support the printing needs of Dallas County, Texas	
Specify Time frame after reciept of Purchase Order from Dallas County	after rec. all files, 24-48 hours		
Should your firm be awarded this contract, describe what (if any) portion of the bid requirements will be subcontracted out:		ES&S will utlize the Odee Company in Dallas, Tx as our print partner for Dallas County.	
Specify Prompt/Early Payment Discount Terms (if any): Product on hand		NA yes	
<b>Cooperative Purchasing:</b> Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agree that all terms, conditions, specifications, and pricing would apply to that entity?		Yes	